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The figures in the margin .indicate‘
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following 'questiohs: %77
TS Al eERT Tes

(@) What is the value of ionic product of
water at 25°C ?

2500%&@@1‘@%%& @WWWP :

{b) N ame one reducmg dlsaccharlde
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(c)

(d)

(e

Write the mathematical expression of

- Clausius-Clapeyron equation.

m@%qﬁm%ﬂﬁ%mmﬁm
o= '

Out of formic acid and acetic acid which.
one would you expect to react with

Tollen’s reagent 2

o S
. Wﬁmamtﬂrﬁmm?

Draw the primary structure of protein.

2o A sToa B il |-

The Gibbs’ i::h_a.se rule is
Tawa el Nos! 2o
)] F=C-pP+1

i) F=P-C+1

(i) F=C-P+2

fiv) F=P-C+2'
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2.

{g)  Which one of the folloWing amines will
not show carbylamine test ?

W@W&ﬁmmﬁ’ﬂﬂﬂ%wﬁm cawm?
6 CHiNEE :

i) CHsCH,NH,

(iii) (CHj),NH

(iv) (cf-lr?j)2 CHNHQ "

~ Answer the following.questions": 2x4=8
o frat e TR fum ¢ ’

{a) Write the number of phases and number
of components pres'ent in the following

' system :

woTs i SRS zmzr AR m@‘%«f R
vl ¢ -
(i)  Ny(g)+3H,(g)=>2NH3(g)
(ii) = Solution of acetic acid in water
IS qf6ios afbes 73
(b) How does the molar 'co.nductivity of 4

weak electrolyte vary with dilution ?
Explain. : :
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(b)

- WW@%&M&WWW_
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How would you convert pwnitrobenzoyl

~chloride to p- mtrobenzaldehyde i

PR R I p—wﬁﬁmﬂ%@iﬁ ,

e Felies SRl e

(d) Amino acids have exceptionally low K
: and K, values. Why ?
G GPTTES K, W K, amm@wﬁsﬁ?
- Answer the following questlons (any three)
9x3=15
wete Al e Ged fxl ¢ (Riezeeant fofaby)

(a) What is tertiary structure of protein ?
Mention different types of interactions
involved in tertiary structure of protein.

. 144=5

: aﬁa&ﬁﬂﬂ%m%ﬁaﬁmww&
T w1ecare 4ot fal o e

Draw and ‘explain the phase diagram of

water system. Why is the phase diagram
of water system different from that of
other one component system.
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2+2+1=5

(c)

(dy

(e)

Tt Al foa Sl T 91 | AR 9
BARRE SOl CreTogs AR Bd U fe
Give five points each of similarity and

dissimilarity between glucose and
fructose.

m’@wﬁwﬁsﬁmmwm
o720 | |

Explain the principle of conductometric
titration of a strong acid vs. strong base.

%w%www@ﬁﬂﬂwmﬁ :
WWW\

AL .25°C, the. speeilie, conductance of .
carefully distilled water is 58.0x107 Sm’!
and the A°m values for H* and OH ions
are 349.8x10* Sm?mol! and 198.5x107*
Sm?mol? respectively. Assuming that A
differs very little from A° , calculate the
ionic product of water at 25°C.

25°C Tewe AR /e Tt AT K2
S{RRIBER TN 58.0x 107 S!S H* Sl OH
SRS A° S Gl 349.8x10°* Sm?mol!
W% 198.5x10%* Sm2mol ! | AW A WIF 1° T
T (SR A A2 A (T 25°C S
oI R EE SO ST 919 41 |

3 (Sem-4/CBCS| CHE HG/RC/G 5 . -  Contd.




the following questions : (any three)
Answer gq . W

'w—ﬂ—m enscare e o & (oA Y

(a) Discuss how the pr1mary structure of
peptide is determined.

(oAo1BTR G 225 ot R et 91 R ST
=i

(b) () Explain a method of conversion of
glucose into arabinose. 5

2 G IR G T HATET FI Bl (S
9|

(i) Howis benzenedia_zqriium chloride
prepared ? How is it converted to
benzene, phenol and p-hydroxyazo
benzene ? 2+3=5

@R SiReTREN F9Ee i 2w
39 TU? Y (IR, e W p-
Ry e R R Fetied
LT

(c) Discuss the fivecharistn of the fcbllowing
 conversions : i D=1

wars el Feeerass TR wiEa 99 ¢

i) ‘Benza'ldehyde to cinnamic acid
@R EYS e afbetE
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(@)

(e)

() Acetamide to methanamine
GfoCoaNRTT frawizHtst

What is eutectic point? Draw and
explain the phase dlagram of Pb-Ag .

‘system. Write two uses of eutectic

mixtures. 1+(3+4)+2=10

RO 47 57 Pb-Ag v i) o <
aﬁ-ﬂﬁw:mﬁm@wmy

(i) What is meant by transport number
of an ion ? Explain the method of
its determination by moving
boundary method. - 2+5=7 "

ST AR R B 3o vemi
ﬁ%ﬁﬂwwmﬁcﬁwmw
E I

(i) A'movmg boundaxyr experiment was

- carried out with 0.01M solution of
KCl {specific conductance = 1.29
Sm™') using CdCl, as the indicator
electrolyte. A current of 5.21 mA
was passed through the tube of
0.230cm? cross-sectional area. It
was observed that the boundary
moved through 4.16cm in 1h.
Calculate the mobility of K* ion.
; ; 3
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- CACL s e Row o ame
FI90.01 MANSI KCIwa (R AfRaifzet
= 1.29 Sm!) «bIF GeT SRE <Irw
T 1 0702 | ARIFIGTS 0.230 cm?
(R ST 5.2 1 mA I 5IErs 31

(2f5E | TR TS T TS RS
4, 16cm@ﬁ?€f®lﬂ§@%ﬁﬂﬁﬁw

K* Sl 7peTe] el apl
) Defme critical solution temperature
What do you mean by upper critical -
solution temperature and lower critical
solution temperature ? Explain the
phenol-water binary system. Explain the

effect of impurities on critical solution
temperature. . - 14+2+5+2=10

FIfes we Taeolx wices Fan | B wfve ww
Gee] Ol NN IR weel Taeo! gfert S 3me

- TREETSAIT et w21t <1 | iR wel
TS 85T TrsfEa 2ol 7k 511 |
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